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Pedestal definition

Which is better definition of pedestal !
Average or Point

There is not so much different ...
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more events of “point”
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pedestal (average)

run 333, sdd5
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run 333, sdd5

point (ch39)|

0.1

- ciie.ie TE i hS:
0.08 Fomrvr i g s i oo | TS 66947
O Lo T * . Meanx i 1292

S A Lo Meany -0:0003008
006 _L.'..-. ........................... B - RMS)C' ..... G141

AR RMS y :0.01804
004»7.. e d...... 27 ........ 0
0.02 "o RGeS R R & STt g | i

pre slope

b T
= - - -
|— *e S . . . . . H H H
- P e 0 o - H H H H H H H
- b4 | | | | | | | |
11 1«9 P 1 1 11 11 11 1 1 | .| L1 1 1 11 1 1 11 1 1 11 1 1 L1 1 1

.o
* o

rrewigiaaaas el Piagas

100 150 200 250 300 350

pedestal (point 39ch)

not so simple, maybe affected by
the oscillation of the pedestal
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Error matrix correlation is included



